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Laskut sujuvaksi (lähekkäiset luvut)

1. Laskutreeni. Ratkaise laskut mahdollisimman nopeasti, mutta tarkasti.

10 – 9 =        	 8 – 7 =        	 7 – 5 =        
		
	 4 – 3 =        	 9 – 6 =       	 9 – 8 =       
		
	 6 – 5 =        	 8 – 6 =       	 3 – 2 =       
		
	10 – 7 =        	 9 – 7 =       	 6 – 4 =       
		
	 5 – 4 =        	 10 – 8 =        	 8 – 5 =       
		
	 7 – 5 =        	 6 – 3 =       	 5 – 3 =       
		
	 4 – 2 =       	 9 – 7 =       	 8 – 6 =       
		
	 8 – 7 =        	 7 – 6 =       	 10 – 8 =       




